
(A) Propose a structure of A and  reaction mechanisms for the following.
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1) LDA, TBSCl, THF/HMPA
    -78 °C to rt
2) K2CO3, MeOH, 0 °C, 93%

3) ClCl
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Et3N, DMPU, toluene, 
then t-BuOH, 73%

1) TBAF, THF, 95%
2) CBr4, PPh3, CH2Cl2
    0 °C, 92%

3) propynylmagnesium
    bromide, cat. CuI, 
    THF, -10 °C, 89%

1) LDA, THF, then
    methyl dodeca-2,10-diynoate
    -78 to 0 °C, 76%
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MeNO2/HOAc (4:1, 0.04M)

3) Ac2O, Et3N, CH2Cl2, 0 °C, 
    73%
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K1) cat.

5A MS, toluene, 88%

2) H2, Lindlar cat. cat. quinoline
    EtOAc/1-hexene, 84%
3) K2CO3, MeOH, 0 °C
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DBU (1 eq.)
THF, RT, 14 h

74% yield
99% eeAr = 4-NO2C6H4
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